

Introduction to Computational Fluid Dynamics Taygun Recep Güngör, PhD İstanbul Teknik Üniversitesi



TÜBİTAI









The simulation of flow over a flat plate experiment in a mini wind tunnel.

Free stream velocity: 10 meter/second The tunnel length: 1 meter The tunnel height: 0.2 meter The tunnel width: 0.2 meter

The data are collectetd using several techniques.



The simulation of flow over a flat plate experiment in a mini wind tunnel.

Free stream velocity: 10 meter/second

The tunnel length: 1 meter The tunnel height: 0.2 meter The tunnel width: 0.2 meter

The data are collectetd using several techniques.

| | $U_{\infty}(m/s)$ | C_{f} | $\delta(mm)$ | $\delta^*(mm)$ | $\theta(mm)$ | H |
|---------|-------------------|---------|--------------|----------------|--------------|------|
| Theor. | 10.00 | 0.00427 | 18.7 | 2.61 | 2.03 | 1.28 |
| Prandtl | 9.87 | 0.00411 | 21.1 | 1.99 | 1.64 | 1.22 |
| Pitot | 9.95 | 0.00385 | 23.4 | 2.88 | 2.22 | 1.29 |
| HW | 10.34 | 0.00408 | 19.6 | 2.37 | 1.92 | 1.23 |
| LDV | 10.01 | 0.00324 | 21.4 | 3.15 | 2.27 | 1.39 |
| | | | | | | |



Grid Generation



| | X | Y | Total |
|--------|-----|----|-------|
| Grid 1 | 54 | 21 | 1134 |
| Grid 2 | 108 | 41 | 4428 |
| Grid 3 | 216 | 80 | 17280 |

There is not a single way of generating different grids!

It is much more complicated when the domain is not simple like this.

Turbulence modelling







Inlet velocity is taken from the experimental results



Inlet turbulent viscosity for Spalart-Allmaras











Results for different turbulence models





Results for different turbulence models





Results for different numerical schemes





Results for different numerical schemes





Results for different wall treatments



ns



Results for different wall treatments







Thanks



This project has received funding from the European High-Performance Computing Joint Undertaking (JU) under grant agreement No 101101903. The JU receives support from the Digital Europe Programme and Germany, Bulgaria, Austria, Croatia, Cyprus, Czech Republic, Denmark, Estonia, Finland, Greece, Hungary, Ireland, Italy, Lithuania, Latvia, Poland, Portugal, Romania, Slovenia, Spain, Sweden, France, Netherlands, Belgium, Luxembourg, Slovakia, Norway, Türkiye, Republic of North Macedonia, Iceland, Montenegro, Serbia